


















(                 )*This is the 2-D  irrep of S4



(       )So, for N=1
no couplings

Couplings inherit the 
permutation symmetry of 

the field contractions



(       )So, for N=1
no couplings

Couplings inherit the 
permutation symmetry of 

the field contractions

Yes, I do!
(see extra slides)







Let me show it to you with one example:
the Standard Model



Input

Output

*for convenience, “operator” here 
means just a product of fields

*
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More details:
Thomas Neder

tomorrow

















Thank you





Recall:

*Disclaimer: with all likelihood, this answer is well known to mathematicians. Since I could not find it anywhere, I’ll try to derive it.

*







That is the answer we seek



Recall:
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